
Lecture 17 - Nov 9

Inheritance

Code Reuse
Static Types & Expectation
Intuition: Polymorphism 
Intuition: Dynamic Binding



Announcements
- ProgTest2: postponed to Tuesday, November 15
- Lab3 due today at 2pm
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Visualizing Parent and Child Objects
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Testing Student Classes (with inheritance)
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Student Classes (with inheritance): Expectations
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Intuition: Polymorphism
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Intuition: Polymorphism
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Intuition: Dynamic Binding
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1. Whether a line should compile?
Look at static type

2. Which version of method should be invoked?

Look at dynamic type


